ITHREZRREFOEEDERICHRIHZ(ZDT)

EREERE 18
31428198
BERRRDIERE 2B FRiE S .
B B = I -E-0367
B R & KERD?2
& FEBARIHETXER
o' # =R R KA B £ KB ’Ag !

COEIE, ELihEREOKREFSE T, FREFEITOHIERR25000 (#RE{E) . #E# 200000 (R ER) #EELI-EDTT, (KRBES TF29EFE. F10047)

3 ]
il b
]
|I |
» T
-::.. ,M\’ﬁ«:% Bk ﬁﬂf;{' _'!\
o N T ——
- W= o AN )
£ [ : A - :l
e s LKA V.S : | =!I
.\\\ v \\I i s
;f P L il =0 (
*“x,? "\iiﬁ, M \ = )11-". )
an SRl //”_'“ =t -"f__ S @? . y:
J &8 PR
; :,.j
&
e 500
: | 17200 000 ‘u e I 1725, 000
' : Mo o | T e s RE0 T =
‘LL B (S=1 200 000) e . (S 1:25,000) Eri e



ITHREZRREFOEEDERICHRIHE (ZND2)

ErEe EREE R E1180
Zx%808 T3 E2H 198
BEDHZTLOHZ L. ELLEEOSTNDOHLLOBRER ) _ ) RAEE TR 28E
= 18 5 o0 fu B @mREs | IN-H-0367 | @BMA K RD)?2 EEED ﬁ*,i!EBS«“LWHT EEPE

BREDNHETNOHZ DKL (THRELEHRE) TR

S IE%0BH BEA MU TOBA. \ 0 50 100 m
ELLVBEOHT |LEEOBHIZESHHM00kN/m?EH % BRI L
hOHBLHOER e rer rrns =
b Ctmsaren | LEEOHEEOBSAIMEMR B —
& e —— o= 3|
2 X i) Ep— L1 : {:F;ﬁﬁuﬁﬁ M AR

i)
=
Jm




ITHWXEERREFOEEDERICHRIEE (ZD3I)

~

ERES ERELETREN8S
EBEMICERTALBESNIEEICETSEE &RERAR FER31€E28198
[ =R e BES ] T-5-0367 | EL | KR IRD2 | L 38 T E B A BB T A A IR
IREOBDIVEENOE LRI IEAT 5 | TE0RRCIVEEDOE LRI-IERT 5 IREOBDIVEENOE LRI IEAT 5 | TAE0RRCIVEEDOELRI-IERT 5
LEEShDH LEEShDH LEEShDH LEEShDH
IRED (BE) &N IRED (BE) &N
MUTOEE. t 5% | TREOHREDNFEN | MUTOEE. t 5% | TREOHREDNTEM .
U B DR | B8 L5 HA TREADRE |5z s ThEstORS: U BHR DRR | BB L5 HA TRUSORSE |5 e axm ThEsORS:
100kN/m’ % #8% B X 13 100kN/m’% 8% 5 X i3
ADKES| THEE | IOARES| TR | AOAES| TRE | IOAES| 1A% ADKES| THEE | IOARES| TRE | AIOAES| TRE | IOAES| TA%
DI3ERK| OBE | 03EBRAX| 0B | 03BRK| OB: | 05BEA| o5 DI3LRA| OBEE | 03tRA| oBE |03BRA| 0B | 0dbRK| o5
2 0) 2 0) 3 0) 2 0) 2 0) 2 0) 20 2 0)
(Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m)
1 2 = = 91.6 1.0 = = 114 2.3
2 3 = = 98.1 1.0 = = 12.4 2.5
3 4 = = 98.1 1.0 = - 12.4 2.5
4 5 = - 91.2 1.0 = - 9.5 1.9
5 6 = - 68.4 1.0 = - 8.9 1.8
6 7 = - 89.8 1.0 = - 9.2 1.9
7 8 = = 89.8 1.0 = = 9.2 1.9
8 9 = = 90.3 1.0 = = 9.2 1.9
9 10 = = 90.3 1.0 = = 9.7 2.0
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